

A Study on Integral Transform of the Generalized Lommel Wright K-Function

Sapna Chanderiya¹, Dr. Indu bala bapna²

¹Department of Mathematics, Maharshi Dayanand Saraswati University, Ajmer, Rajasthan, India

² Department of Mathematics, Maharshi Dayanand Saraswati University, Ajmer, Rajasthan, India

Corresponding Author: sapnachanderiya5@gmail.com

Abstract – In the present work we introduces an integral transform of the lommel wright k- function. These transform are expressed in terms of the wright hypergeometric k-function. various interesting transform as the consequence of this method are obtained. which plays an important role to solve the differential equation and also some relations and results related to this generalized lommel wright k-function.

Key Words: Generalized Lommel Wright K-function, Euler Beta Transform, Laplace Transform, K-Transform, Hankel Transform.
MSC2020 classification:33E20,33B15,44A10,44A05,44A20.

1.INTRODUCTION

In recent years the fractional calculus has become one of the most rapidly growing research subject of mathematical analysis due to its numerous applications in various parts of science as well as mathematics.

The transform defined by the following Integral equation

$$B[f(x); a, b] = \int_0^1 x^{a-1} (1-x)^{b-1} f(x) dx \quad (1)$$

is called the Euler Beta transform with p as a complex parameter.

The Laplace transform of a function f(x) is defined by

$$L\{f(p)\} = \int_0^\infty e^{-xp} f(x) dx \quad (2)$$

Where p is a complex parameter.

The transform

$$R_\nu f(x); p = g(p, \nu) = \int_0^\infty (px)^{1/2} K_\nu(px) f(x) dx \quad (3)$$

is called the K-transform with p as a complex parameter and $K_\nu(px)$ is called the modified Bessel function of the third kind or the Macdonald function, see (Mathai et al, 2010, p.53).

The Hankel transform of a function f(x) denoted by g(p, v) defined as

$$g(p, \nu) = \int_0^\infty (px)^{1/2} J_\nu(px) f(x) dx, p > 0 \quad (4)$$

where $J_\nu(px)$ is called the Bessel-Maitland function or the maitland Bessel function (Mathai et al, 2010, p.22 and p.56).

Next for the result of this paper. we take The Wright Hypergeometric function in series form [9], denoted by ${}_p\psi_q(z)$ is define as:

$${}_p\psi_q \left[\begin{matrix} (\alpha_1, A_1) \dots (\alpha_p, A_p) \\ (\beta_1, B_1) \dots (\beta_q, B_q) \end{matrix} ; z \right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p \Gamma(\alpha_j + A_j n) z^n}{\prod_{j=1}^q \Gamma(\beta_j + B_j n) n!}$$

where the coefficient $(A_1, \dots, A_p)$ and $(B_1, \dots, B_q)$ are positive real numbers such that.

$$1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j \geq 0$$

Gehlot and prajapati defined the lommel wright k function as follows[5].

For $(k \in \mathbb{R}^+, w, \alpha_i, b_j \in \mathbb{C}, \& A_i, B_j \in \mathbb{R}(A_i, B_j) \& \text{ where } (i = 1, 2, \dots, \theta) \text{ and } (\alpha_i + A_i n), (\alpha_i + B_j n) \in \mathbb{C})$.

We take the Wright Hypergeometric k-function in series form[3],denoted by ${}_p\psi_q^k$ is define as:

$${}_p\psi_q^k \left[\begin{matrix} (\alpha_1, kA_1) \dots (\alpha_p, kA_p) \\ (\beta_1, kB_1) \dots (\beta_q, kB_q) \end{matrix} ; z \right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p \Gamma_k(\alpha_j + A_j n k) z^n}{\prod_{j=1}^q \Gamma_k(\beta_j + B_j n k) n!} \quad (5)$$

Where the cofficients $(A_1 \dots A_p)$ and $(B_1 \dots B_q)$ are positive real number such that

$$1 + \sum_{j=1}^q \frac{B_j}{k} - \sum_{j=1}^p \frac{A_j}{k} \geq 0$$

and slightly generalized form is

$${}_p\psi_q^k \left[\begin{matrix} (\alpha_1, kA_1) \dots (\alpha_p, kA_p) \\ (\beta_1, kB_1) \dots (\beta_q, kB_q) \end{matrix} ; z \right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p \Gamma_k(\alpha_j) z^n}{\prod_{j=1}^q \Gamma_k(\beta_j) n!} = {}_pF_q^k \left[\begin{matrix} (\alpha_1, k) \dots (\alpha_p, k) \\ (\beta_1, k) \dots (\beta_q, k) \end{matrix} ; z \right] \quad (6)$$

Where ${}_pF_q^k$ is the generalised hypergeometric k-function defined by

$${}_pF_q^k \left[\begin{matrix} (\alpha_1, k) \dots (\alpha_p, k) \\ (\beta_1, k) \dots (\beta_q, k) \end{matrix} ; z \right] = \sum_{n=0}^{\infty} \frac{(\alpha_1)_{n,k} \dots (\alpha_p)_{n,k} z^n}{(\beta_1)_{n,k} \dots (\beta_q)_{n,k} n!} \quad (7)$$

The series representation of the generalized lommel wright k-function is defined by

$$J_{\lambda, k}^{\psi, m}(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{\Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(\frac{z}{2}\right)^{2n + \frac{\lambda + 2k}{k}} \quad (8)$$

Where $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, \lambda \in \mathbb{C}, k \in \mathbb{N}^+, \psi > 0)$ and $\Gamma_k(z)$ is the k-gamma function introduced by Diaz and Pariguan [6] given by

$$\Gamma_k(z) = \lim_{n \rightarrow \infty} \frac{(n)! k^n (nk)^{\frac{\omega}{k}-1}}{(w)_{n,k}} \quad (9)$$

with k-pochhammer symbol $(z)_{n,k} = z(z+k)(z+2k) \dots (z+(n-1)k)$ $z \in \mathbb{C}, k \in \mathbb{N}^+$

The classical Euler gamma function and gamma k-function are related with following relation

$$\Gamma_k(z) = k^{\frac{z}{k}-1} \left(\Gamma \frac{z}{k} \right)$$

for $k=1$ generalized lommel wright k -function reduce in generalized lommel wright function. For $m=1$ reducing in generalized bessel maitland k -function. for $m=k=1$ reducing in bessel maitland function. for $m=v=k=1$ and $\mu = 0$ reducing in classical bessel function.

Theorem 2.1.(Euler Beta Transform)

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, \lambda \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ then the Euler beta transform of the generalized lommel wright k -function is

$$\int_0^{\infty} t^{\alpha-1} (1-t)^{\beta-1} J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt = k^{\beta} \Gamma_{\beta} \left(\frac{x}{2} \right)^{\frac{\lambda+2k}{k}} \times {}_2\Psi_{m+2}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma \lambda + 2\sigma k, 2\sigma k) \\ (\lambda + k, k) \cdots (\lambda + k, k) (N + \lambda + k, \psi) (\alpha k + \beta k + \sigma \lambda + 2\sigma k, 2\sigma k) \end{matrix} ; \left(-\frac{x^2}{4k} \right) \right] \quad (10)$$

Proof- On using (8) in the integrand of (10), we get

$$\int_0^{\infty} t^{\alpha-1} (1-t)^{\beta-1} J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt = \sum_{n=0}^{\infty} \frac{(-1)^n}{\Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(\frac{x}{2} \right)^{2n + \frac{\lambda+2k}{k}} \int_0^{\infty} t^{\alpha + \sigma(2n + \frac{\lambda+2k}{k}) - 1} (1-t)^{\beta-1} dt \quad (11)$$

Now using (1) in the above equation, we get

$$\int_0^{\infty} t^{\alpha-1} (1-t)^{\beta-1} J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt = k^{\beta} \Gamma_{\beta} \left(\frac{x}{2} \right)^{\frac{\lambda+2k}{k}} \sum_{n=0}^{\infty} \frac{\Gamma_k(nk + k) \Gamma_k(\alpha k + \sigma(2nk + N + 2\lambda))}{n! \Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k) \Gamma_k(\alpha k + \beta k + \sigma(2nk + N + 2\lambda))} \left(-\frac{x^2}{4k} \right)^n \quad (12)$$

$$= k^{\beta} \Gamma_{\beta} \left(\frac{x}{2} \right)^{\frac{\lambda+2k}{k}} {}_2\Psi_{m+2}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma \lambda + 2\sigma k, 2\sigma k) \\ (\lambda + k, k) \cdots (\lambda + k, k) (N + \lambda + k, \psi) (\alpha k + \beta k + \sigma \lambda + 2\sigma k, 2\sigma k) \end{matrix} ; \left(-\frac{x^2}{4k} \right) \right] \quad (13)$$

Theorem 2.2.(Laplace Transform)

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, \lambda \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ then the laplace transform of the generalized lommel wright k -function is

$$\int_0^{\infty} t^{\alpha-1} e^{-\delta t} J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt = \frac{k^{1-\alpha}}{\delta^{\alpha}} \left(\frac{x}{2(\delta k)^{\sigma}} \right)^{\frac{\lambda+2k}{k}} {}_2\Psi_{m+1}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma \lambda + 2\sigma k, 2\sigma k) \\ (\lambda + k, k) \cdots (\lambda + k, k) (N + \lambda + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}} \right) \right] \quad (14)$$

Proof: On using (8) in the integrand of (14), we get

$$\int_0^{\infty} t^{\alpha-1} e^{-\delta t} J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt$$

$$= \sum_{n=0}^{\infty} \frac{(-1)^n}{\Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(\frac{x}{2}\right)^{2n + \frac{\lambda + 2\lambda}{k}} \int_0^{\infty} e^{-\delta t} t^{\alpha + \sigma(2n + \frac{\lambda + 2\lambda}{k}) - 1} dt \quad (15)$$

Now using (2) in the above equation we get

$$\int_0^{\infty} t^{\alpha-1} e^{-\delta t} J_{\lambda, k}^{\psi, m}(sx t^{\sigma}) dt$$

$$= \frac{k^{1-\alpha}}{\delta^{\alpha}} \left(\frac{x}{2(\delta k)^{\sigma}}\right)^{\frac{\lambda + 2\lambda}{k}} \sum_{n=0}^{\infty} \frac{\Gamma_k(nk + k) \Gamma_k(\alpha k + \sigma(2nk + N + 2\lambda))}{n! \Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(-\frac{x^2}{4k(\delta k)^{2\sigma}}\right)^n \quad (16)$$

$$= \frac{k^{1-\alpha}}{\delta^{\alpha}} \left(\frac{x}{2(\delta k)^{\sigma}}\right)^{\frac{\lambda + 2\lambda}{k}} {}_2\Psi_{m+1}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma N + 2\sigma\lambda, 2\sigma k) \\ (\lambda + k, k) \dots (\lambda + k, k) (N + \lambda + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}}\right) \right] \quad (17)$$

Theorem 2.3. (K-Transform)

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, \lambda \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ then the k-transform of the generalized lommel wright k-function is

$$\int_0^{\infty} t^{\alpha-1} k_n(at) J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt$$

$$= \frac{k^{1-\frac{\alpha+\eta}{2}}}{4} \left(\frac{2}{a}\right)^{\alpha} \left(\frac{x}{2}\left(\frac{2}{a\sqrt{k}}\right)^{\sigma}\right)^{\frac{\lambda + 2\lambda}{k}} {}_2\Psi_{m+1}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma N + 2\sigma\lambda, 2\sigma k) \\ (\lambda + k, k) \dots (\lambda + k, k) (N + \lambda + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}}\right) \right] \quad (18)$$

Proof: On using (8) in the integrand of (18), we get

$$\int_0^{\infty} t^{\alpha-1} k_n(at) J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt$$

$$= \sum_{n=0}^{\infty} \frac{(-1)^n}{\Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(\frac{x}{2}\right)^{2n + \frac{\lambda + 2\lambda}{k}} \int_0^{\infty} t^{\alpha + \sigma(2n + \frac{\lambda + 2\lambda}{k}) - 1} k_n(at) dt \quad (19)$$

Now using (3) in the above equation we get

$$\int_0^{\infty} t^{\alpha-1} k_n(at) J_{\lambda, k}^{\psi, m}(xt^{\sigma}) dt$$

$$= \frac{k^{1-\frac{\alpha+\eta}{2}}}{4} \left(\frac{2}{a}\right)^{\alpha} \left(\frac{x}{2}\left(\frac{2}{a\sqrt{k}}\right)^{\sigma}\right)^{\frac{\lambda + 2\lambda}{k}} \sum_{n=0}^{\infty} \frac{\Gamma_k(nk + k) \Gamma_k(\alpha k + \sigma(2nk + N + 2\lambda))}{n! \Gamma_k(\lambda + k + nk)^m \Gamma_k(N + \lambda + n\psi + k)} \left(-\frac{x^2}{4k(\delta k)^{2\sigma}}\right)^n \quad (20)$$

$$= \frac{k^{1-\frac{\alpha+\eta}{2}}}{4} \left(\frac{2}{a}\right)^{\alpha} \left(\frac{x}{2}\left(\frac{2}{a\sqrt{k}}\right)^{\sigma}\right)^{\frac{\lambda + 2\lambda}{k}} {}_2\Psi_{m+1}^k \left[\begin{matrix} (k, k) (\alpha k + \sigma N + 2\sigma\lambda, 2\sigma k) \\ (\lambda + k, k) \dots (\lambda + k, k) (N + \lambda + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}}\right) \right] \quad (21)$$

Theorem 2.4.(Hankel Transform)

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, \lambda \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ then the hankel transform of the generalized lommel wright k-function is

$$\int_0^\infty t^{\alpha-1} J_n(\alpha t) J_{\lambda, k}^{\psi, m}(xt^\sigma) dt = \frac{1}{2} \left(\frac{x}{2}\right)^{\frac{\lambda+2k}{k}} \left(\frac{2}{\alpha k}\right)^{\alpha+\sigma \left(\frac{\lambda+2k}{k}\right)} \\ \times {}_2\Psi_{m+2}^k \left[\begin{matrix} (k, k) \left(\frac{\alpha k}{2} + \frac{\sigma \lambda}{2} + \frac{\eta k}{2} + \sigma \lambda, \sigma k\right) \\ (\lambda + k, k) \cdots (\lambda + k, k) (\lambda + \lambda + k, \psi) \left(k + \frac{\eta k}{2} - \frac{\alpha k}{2} - \frac{\sigma \lambda}{2} - \sigma \lambda, -\sigma k\right) \end{matrix} ; \left(-\frac{x^2}{4k} \left(\frac{4}{(\alpha k)^2}\right)^\sigma\right) \right] \quad (22)$$

Proof: On using (8) in the integrand of (22), we get

$$\int_0^\infty t^{\alpha-1} J_n(\alpha t) J_{\lambda, k}^{\psi, m}(xt^\sigma) dt \\ = \sum_{n=0}^\infty \frac{(-1)^n}{\Gamma_k(\lambda + k + nk)^m \Gamma_k(\lambda + \lambda + n\psi + k)} \left(\frac{x}{2}\right)^{2n + \frac{\lambda+2k}{k}} \int_0^\infty t^{\alpha+\sigma(2n + \frac{\lambda+2k}{k})-1} J_n(\alpha t) dt \quad (23)$$

Now using (4) in the above equation we get

$$\int_0^\infty t^{\alpha-1} J_n(\alpha t) J_{\lambda, k}^{\psi, m}(xt^\sigma) dt = \frac{1}{2} \left(\frac{x}{2}\right)^{\frac{\lambda+2k}{k}} \left(\frac{2}{\alpha k}\right)^{\alpha+\sigma \left(\frac{\lambda+2k}{k}\right)} \\ \times \sum_{n=0}^\infty \frac{\Gamma_k(nk + k) \Gamma_k(\alpha k + \sigma(2nk + \lambda + 2\lambda) + \eta k/2)}{n! \Gamma_k(\lambda + k + nk)^m \Gamma_k(\lambda + \lambda + n\psi + k) \Gamma_k(2k + \eta k - \alpha k - \sigma(2nk + \lambda + 2\lambda)/2)} \left(-\frac{x^2}{4k} \left(\frac{2}{\alpha k}\right)^{2\sigma}\right)^n \quad (24)$$

$$= \frac{1}{2} \left(\frac{x}{2}\right)^{\frac{\lambda+2k}{k}} \left(\frac{2}{\alpha k}\right)^{\alpha+\sigma \left(\frac{\lambda+2k}{k}\right)} \\ \times {}_2\Psi_{m+2}^k \left[\begin{matrix} (k, k) \left(\frac{\alpha k}{2} + \frac{\sigma \lambda}{2} + \frac{\eta k}{2} + \sigma \lambda, \sigma k\right) \\ (\lambda + k, k) \cdots (\lambda + k, k) (\lambda + \lambda + k, \psi) \left(k + \frac{\eta k}{2} - \frac{\alpha k}{2} - \frac{\sigma \lambda}{2} - \sigma \lambda, -\sigma k\right) \end{matrix} ; \left(-\frac{x^2}{4k} \left(\frac{4}{(\alpha k)^2}\right)^\sigma\right) \right] \quad (25)$$

Special Cases:

In this section, we get some integral formulas involving lommel wright k-function as follows.

Using $m=1$, the results (2.1) to (2.4) take of the form

Corollary 1.

Let $(z \in \mathbb{C}/(-\infty, 0], \lambda, \lambda \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ Then by (10) the Euler Beta Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} (1-t)^{\beta-1} J_{\lambda, k}^{\psi}(xt^\sigma) dt \\ = k^\beta \Gamma_\beta \left(\frac{x}{2}\right)^{\frac{\lambda+2k}{k}} {}_2\Psi_3^k \left[\begin{matrix} (\alpha k + \sigma \lambda + 2\sigma \lambda, 2\sigma k) (k, k) \\ (\lambda + k, k) (\lambda + \lambda + k, \psi) (\alpha k + \beta k + \sigma \lambda + 2\sigma \lambda, 2\sigma k) \end{matrix} ; \left(-\frac{x^2}{4k}\right) \right] \quad (26)$$

Corollary 2.

Let $(z \in \mathbb{C}/(-\infty, 0], N, \hbar \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ Then by (14) the Laplace Transform, we obtain:

$$\begin{aligned} & \int_0^{\infty} t^{\alpha-1} e^{-\delta t} J_{\hbar, k}^{\psi}(xt^{\sigma}) dt \\ &= \frac{k^{1-\alpha}}{\delta^{\alpha}} \left(\frac{x}{2(\delta k)^{\sigma}} \right)^{\frac{N+2\hbar}{k}} {}_2\Psi_2^k \left[\begin{matrix} (\alpha k + \sigma N + 2\sigma \hbar, 2\sigma k) (k, k) \\ (\hbar + k, k) (N + \hbar + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}} \right) \right] \end{aligned} \quad (27)$$

Corollary 3.

Let $(z \in \mathbb{C}/(-\infty, 0], N, \hbar \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ Then by (18) the K-Transform, we obtain:

$$\begin{aligned} & \int_0^{\infty} t^{\alpha-1} K_n(at) J_{\hbar, k}^{\psi}(xt^{\sigma}) dt \\ &= \frac{k^{1-\frac{\alpha+\eta}{2}}}{4} \left(\frac{2}{a} \right)^{\alpha} \left(\frac{x}{2} \left(\frac{2}{a\sqrt{k}} \right)^{\sigma} \right)^{\frac{N+2\hbar}{k}} {}_2\Psi_2^k \left[\begin{matrix} (\alpha k + \sigma N + 2\sigma \hbar, 2\sigma k) (k, k) \\ (\hbar + k, k) (N + \hbar + k, \psi) \end{matrix} ; \left(-\frac{x^2}{4k(\delta k)^{2\sigma}} \right) \right] \end{aligned} \quad (28)$$

Corollary 4.

Let $(z \in \mathbb{C}/(-\infty, 0], N, \hbar \in \mathbb{C}, \psi > 0 \text{ and } k \in \mathbb{N}^+)$ Then by (22) the Hankel Transform, we obtain:

$$\begin{aligned} & \int_0^{\infty} t^{\alpha-1} J_n(at) J_{\hbar, k}^{\psi}(xt^{\sigma}) dt \\ &= \frac{1}{2} \left(\frac{x}{2} \right)^{\frac{N+2\hbar}{k}} \left(\frac{2}{ak} \right)^{\alpha+\sigma} \left(\frac{N+2\hbar}{k} \right) {}_2\Psi_3^k \left[\begin{matrix} \left(\frac{\alpha k}{2} + \frac{\sigma N}{2} + \frac{\eta k}{2} + \sigma \hbar, \sigma k \right) (k, k) \\ (\hbar + k, k) (N + \hbar + k, \psi) \left(k + \frac{\eta k}{2} - \frac{\alpha k}{2} - \frac{\sigma N}{2} - \sigma \hbar, -\sigma k \right) \end{matrix} ; \left(-\frac{x^2}{4k} \left(\frac{4}{(ak)^2} \right)^{\sigma} \right) \right] \end{aligned} \quad (29)$$

Letting $k = 1$, we have the generalized Lommel-Wright function and the corresponding formulas are presented in subsequent corollaries.

Corollary 5.

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, N, \hbar \in \mathbb{C} \text{ and } \psi > 0)$ Then by (10) the Euler Beta Transform, we obtain:

$$\begin{aligned} & \int_0^{\infty} t^{\alpha-1} (1-t)^{\beta-1} J_{\hbar}^{\psi, m}(xt^{\sigma}) dt \\ &= \Gamma(\beta) \left(\frac{x}{2} \right)^{N+2\hbar} {}_2\Psi_{m+2} \left[\begin{matrix} (\alpha + \sigma N + 2\sigma \hbar, 2\sigma) (1, 1) \\ (\hbar + 1, 1) \dots (\hbar + 1, 1) (N + \hbar + 1, \psi) (\alpha + \beta + \sigma N + 2\sigma \hbar, 2\sigma) \end{matrix} ; \left(-\frac{x^2}{4} \right) \right] \end{aligned} \quad (30)$$

Corollary 6.

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, N, \hbar \in \mathbb{C} \text{ and } \psi > 0)$ Then by (14) the Laplace Transform, we obtain:

$$\begin{aligned} & \int_0^{\infty} t^{\alpha-1} e^{-\delta t} J_{\hbar}^{\psi, m}(xt^{\sigma}) dt \\ &= \frac{1}{\delta^{\alpha}} \left(\frac{x}{2\delta^{\sigma}} \right)^{N+2\hbar} {}_2\Psi_{m+1} \left[\begin{matrix} (\alpha + \sigma N + 2\sigma \hbar, 2\sigma) (1, 1) \\ (\hbar + 1, 1) \dots (\hbar + 1, 1) (N + \hbar + 1, \psi) \end{matrix} ; \left(-\frac{x^2}{4\delta^{2\sigma}} \right) \right] \end{aligned} \quad (31)$$

Corollary 7.

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, h \in \mathbb{C} \text{ and } \psi > 0)$ Then by (18) the K-Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} k_n(at) f_{\mathbf{x}h}^{\psi,m}(xt^\sigma) dt = \frac{1}{4} \left(\frac{2}{a}\right)^\alpha \left(\frac{x}{2}\left(\frac{2}{a}\right)^\sigma\right)^{\mathbf{x}+2h} {}_2\Psi_{m+1} \left[\begin{matrix} (\alpha + \sigma\mathbf{N} + 2\sigma h, 2\sigma)(1,1) \\ (\mathbf{h} + 1, 1) \dots (\mathbf{h} + 1, 1)(\mathbf{N} + \mathbf{h} + 1, \psi) \end{matrix} ; \left(-\frac{x^2}{4(\delta)^{2\sigma}}\right) \right] \quad (32)$$

Corollary 8.

Let $(z \in \mathbb{C}/(-\infty, 0], m \in \mathbb{N}, h \in \mathbb{C} \text{ and } \psi > 0)$ Then by (22) the Hankel Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} f_n(at) f_{\mathbf{x}h}^{\psi,m}(xt^\sigma) dt = \frac{1}{2} \left(\frac{x}{2}\right)^{\mathbf{x}+2h} \left(\frac{2}{ak}\right)^{\alpha+\sigma(\mathbf{N}+2h)} {}_2\Psi_{m+2} \left[\begin{matrix} \left(\frac{\alpha}{2} + \frac{\sigma\mathbf{N}}{2} + \frac{\eta}{2} + \sigma h, \sigma\right)(1,1) \\ (\mathbf{h} + 1, 1) \dots (\mathbf{h} + 1, 1)(\mathbf{N} + \mathbf{h} + 1, \psi) \left(1 + \frac{\eta}{2} - \frac{\alpha}{2} - \frac{\sigma\mathbf{N}}{2} - \sigma h, -\sigma\right) \end{matrix} ; \left(-\frac{x^2}{4}\left(\frac{4}{a^2}\right)^\sigma\right) \right] \quad (33)$$

For $m = k = \psi = 1$ and $h = 0$, the corresponding corollaries are as given below

Corollary 9.

Let $(z \in \mathbb{C}/(-\infty, 0], \mathbf{N} \in \mathbb{C})$ Then by (10) the Euler Beta Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} (1-t)^{\beta-1} f_{\mathbf{x}}^{1,1}(xt^\sigma) dt = \Gamma\beta \left(\frac{x}{2}\right)^{\mathbf{x}} {}_1\Psi_2 \left[\begin{matrix} (\alpha + \sigma\mathbf{N}, 2\sigma) \\ (\mathbf{N} + 1, 1)(\alpha + \beta + \sigma\mathbf{N}, 2\sigma) \end{matrix} ; \left(-\frac{x^2}{4}\right) \right] \quad (34)$$

Corollary 10.

Let $(z \in \mathbb{C}/(-\infty, 0], \mathbf{N} \in \mathbb{C})$ Then by (14) the Laplace Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} e^{-\delta t} f_{\mathbf{x}}^{1,1}(xt^\sigma) dt = \frac{1}{\delta^\alpha} \left(\frac{x}{2\delta^\sigma}\right)^{\frac{\mathbf{x}+2h}{k}} {}_1\Psi_1 \left[\begin{matrix} (\alpha + \sigma\mathbf{N}, 2\sigma) \\ (\mathbf{N} + 1, 1) \end{matrix} ; \left(-\frac{x^2}{4\delta^{2\sigma}}\right) \right] \quad (35)$$

Corollary 11.

Let $(z \in \mathbb{C}/(-\infty, 0], \mathbf{N} \in \mathbb{C})$ Then by (18) the K-Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} k_n(at) f_{\mathbf{x}}^{1,1}(xt^\sigma) dt = \frac{1}{4} \left(\frac{2}{a}\right)^\alpha \left(\frac{x}{2}\left(\frac{2}{a}\right)^\sigma\right)^{\mathbf{x}} {}_1\Psi_1 \left[\begin{matrix} (\alpha + \sigma\mathbf{N}, 2\sigma) \\ (\mathbf{N} + 1, 1) \end{matrix} ; \left(-\frac{x^2}{4\delta^{2\sigma}}\right) \right] \quad (36)$$

Corollary 12.

Let $(z \in \mathbb{C}/(-\infty, 0], \mathbf{N} \in \mathbb{C})$ Then by (22) the Hankel Transform, we obtain:

$$\int_0^\infty t^{\alpha-1} f_n(at) f_{\mathbf{x}}^{1,1}(xt^\sigma) dt$$

$$= \frac{1}{2} \left(\frac{x}{2} \right)^{\frac{\alpha}{2}} \left(\frac{2}{a} \right)^{\frac{\sigma N}{2}} {}_1\Psi_2 \left[\begin{matrix} \left(\frac{\alpha}{2} + \frac{\sigma N}{2} + \frac{\eta}{2}, \sigma \right) \\ (N+1, 1) \left(1 + \frac{\eta}{2} - \frac{\alpha}{2} - \frac{\sigma N}{2}, -\sigma \right) \end{matrix} ; \left(-\frac{x^2}{4} \left(\frac{4}{a^2} \right)^{\frac{\sigma}{2}} \right) \right] \quad (37)$$

CONCLUSION: The Euler Beta Transform, Laplace Transform, K-Transform, Hankel Transform for Generalized Lommel wright k-function were derived. When we take $k = 1$ we also deduce the results for Lommel wright function.

REFERENCES:

- [1] Mubeen S. and Habibullah G.M., K-fractional integrals and applications, Int.J.Compt.Math.Science, 7(2)2012, pp.-89-94.
- [2] J.Edward, A Treatise on the integral calculus, Vol.2, Chelsea Publishing Company, New York (1962).
- [3] J.P konovska, Theorems on the convergence of series in generalized Lommel -Wright functions, Fractional Calculus and Applied Analysis 10, 59-74 (2007).
- [4] K.B.Kachhia, J.C. Prajapati, On generalized fractional kinetic equation involving generalized Lommel-Wright functions, Alexandria Engineering Journal, 55 (2016) 2953-2957.
- [5] K.S. Gehlot, J.C. Prajapati, Fractional calculus of generalized k-wright function, Journal of fractional calculus and applications, 4 (2013) 283-289.
- [6] R. Diaz, E. Pariguan, On Hypergeometric functions and pochhammer k-symbol, Divulgaciones Mathematicas, 15 (2017), 179-192.
- [7] A. M. Mathai, R. K. Saxena, H. J. Haubold, The H-function: Theory and applications, New York, USA: Springer, 2010.
- [8] S. Mubeen, G. M. Habibullah, k-fractional integrals and application, Int. J. Contemp. Math. Sci., 7 (2012), 89-94.
- [9] K. S. Gehlot, J. C. Prajapati, Fractional calculus of generalized k-Wright function, J. Fract. Calc. Appl., 4 (2013), 283-289.
- [10] R. Diaz, E. Pariguan, On hypergeometric functions and Pochhammer k-symbol, Divulgaciones Matematicas, 15 (2007), 179-192.
- [11] G. N. Watson, A treatise on the theory of Bessel functions, 2 Eds., London, New York: Cambridge University Press, 1944.
- [12] D. L. Suthar, Composition formulae for the k-fractional calculus operators associated with k-Wright Function, J. Math., 2020, 5471715.
- [13] R. Diaz, C. Teruel, q, k-Generalized gamma and beta functions, J. Nonlinear Math. Phys., 12 (2005), 118-134.
- [14] Choi, J. & Agarwal, P. 2013. Certain unified integrals associated with Bessel functions. Boundary Value Problems, art.number:95.
- [15] Choi, J., Mathur, S. & Purohit, S.D. 2014. Certain new integral formulas involving the generalized Bessel functions. Bulletin of the Korean Mathematical Society, 51(4), pp.995-1003.
- [16] Kachhia, K.B. & Prajapati, J.C. 2016. On generalized fractional kinetic equations involving generalized Lommel Wright functions. Alexandria Engineering Journal, 55(3), pp.2953-2957.
- [17] Mathai, A.M., Saxena, R.K. & Haubold, H.J. 2010. The H-function: Theory and Applications. New York, NY: Springer.
- [18] Mathai, A.M. & Saxena, R.K. 1973. Generalized Hypergeometric Functions with Applications in Statistics and Physical Sciences. Berlin Heidelberg: Springer- Verlag.
- [19] Mondal, S.R. & Nisar, K.S. 2017. Certain unified integral formulas involving the generalized modified k-Bessel function of first kind. Communications of the Korean Mathematical Society, 32(1), pp.47-53.

- [20] Paneva-Konovska, J. 2007. Theorems on the convergence of series in generalized Lommel-Wright functions. *Fractional Calculus and Applied Analysis*, 10(1), pp.59-74.
- [21] Rainville, E.D. 1960. *Special Functions*. New York: Macmillan Company.
- [22] Srivastava, H.M. & Manocha, H.L. 1984. *A treatise on generating functions*. Chichester, West Sussex, England: E. Horwood & New York: Halsted Press.